
���������
��
��
��	

����
�� 
��	��

�����
��1�����
��
2��	�1�������

� �	.����	-�����������
� �		����

 �		��
����������

2��	 ������



XngFs

��-	�,�"#Mb ]%PCIpRGYW

-������dKGYW
��,�"#

�������
�����

U%5OPS.7N?-BV
OPTaH[VA:7NIFED$

Ue-B5%<.%4H
kLGYW���
���	�
�

/����

1�GYWC

�����	����
��������
�
���������

�
�����3���1	��! 
�
�����#�
�1���	��
�
�����3���1��1����	

"�����2
��

� ��:���/��20	
�,�"#=4VL<0%V

.


�������8�����!�

�1���4;OB



��#�
" !(-�%$�
�������	
��*0����

https://www.google.com/search?q=speedtest
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